Warm Up

Prove the following identities:
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Questions from last night's homework?

tan&cos =sin &
cotfsecd = cscl

1+cot’&

1
csc’ @




@u lg—casé&scaﬁ)L |

(e [
]
;P Hton® +L'ie‘} = {S&Lécfds&‘l

SInG +
S sn@

'5;68- + CG?§&

InOccsB
|

SinBcesd
\.‘




Trig Identities

tanf = sind
cosf
cotf = CF)SQ
s &
csc ) = _1
sin &
secd = 1
cos &
t;:{)t(:?:L
tan &

sin® +cos” 6 =1
tan®® + 1 =sec” O

1+ c(:rt2 0= 0802 7}

sinf = .
csc
1
costd =
Sec
tan & = L
cot &



Strategies for Proving Identities:
e Work on the most complex side and simplify so it has

the same form as the simpler side
e Methods used in simplifying: direct substitution,

factoring, finding a common denominator, multiplying
by the conjugate




Prove the following identities:
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Homework
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